H £ 0l & AF & S

Al A

20258 20ilaF LB 9 ARt
FA 2ASIAIR
I Agelsl 28 A
el Q2Eel Halst EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2|3 AR 1t 1,260,485 1,198,977 61,508
Aozl 28 X2 1,181,306 1,100,637 80,668
o329l Walst 1,181,305 1,100,637 80,668
SIPSE N 653,820 538,533 115,287
205 2|3/H| 575,820 538,533 37,287
01 &&=y 126,000 92,400 33,600
O 24Tl Y|
1,200,000 x7 & * 122 100,800
O x&sH| 300,000 x7H~12& 25,200
2 3= 187,250 182,683 4,567
Oogd=¢ 2,229,160 7 H+ 123 187,250
03 2| =LHOHI 15,000 19,000 24,000
osggs 15,000,000 15,000
04 2|3 =20Hl 35,350 31,850 3,500
O2¥ 4,000,000& *7H 28,000
OXZHEAl & WE
24,500, 000& *30% 7,350
06 Y =ESS3 55,800 51,000 4,800
(@RIPSE-gespis el 51,000,000 51,000
Oud M =33l 400,000« 12& 4,800
06 232 HARFA| 54,000 47,040 6,960
oo 2,800,000&~12& 33,600
OR 1,300,000& «12& 15,600
OudEH HE2H 2,400,000 x2& 4,800
07 Q2 H2NLH(SSRIE, AN LR) 28,000 40,000 A12,000
O3ss%9& € MHU= 28,000,000 28,000
08 QIR SN (2I29IE) 14,000 13,000 1,000
OglRtIg =] 14,000,000 14,000
09 I3 F IRy 35,000 35,000 0
(O LRSELP) =l 5,000,000& 7 35,000
10 SIZEAMEE S 13,600 13,600 0
OAFHEAMRE S 13,600
“H=AZ KR 22l E s 2]
13,600,000& 13,600
1 oYE=0A=RE= 3,420 4,560 AT1,140
O2A=UASRELES
95,0002 %3~ 122 3,420
12 =AU RES 8,400 8,400 0
O2A=RUABRLES
100,000 x7&* 122 8,400
405 AtatE = 78,000 78,000
01 Tt =S F=HI 78,000 78,000
O2dEg sEXE 7 78,000,000 78,000




2A:

A Xgols 29 XA
el Q2Eel Halst EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OIA2GXIE 304,934 324,112 A19,178
101 2124 d| 23,050 22,558 499
M IIRINZ2Z2XsSEs 23,050 22,558 492
OF A2 (1Y) 13,855
-Jl22(4A12E, 3= 54)
1,053, 1503« 1Z 123 12,638
S 79,80021% 12+ 122 958
IR RBENSY
43,1603« 1H+6 259
OFIIAHHHSE 1, LAIS 1F) 9,1%
A== 2,006,270 x2H +x2& 8,386
I 168, 84021 2% %02 636
IR RIENSL
86,3203 x2H 1 173
201 B2 AY| 204,444 218,474 A 14,030
01 At=R2teld| 153,640 161,910 8,270
O&0I=% 2,000% *3,0004 6,000
OIS &EAOIA 47,0003 2504 11,750
OIS U ABUSIDS(H)
11,000,00024 11,000
OZD=9I0{8 AARIY 5|0 &A AL
100,000 *7 B *33| 2,100
OZJE Al - 293 MEUs S X3
9,000,002 9,000
OAl - 228l omE oIzl N
1,000,000& 1,000
O2sl+=d HM% 8,000 *5005 4,000
Ozl E HE 650,000 *93] 5,850
Ozl X+ MIZ 9,000,000& 9,000
OXIZR == 6,000,000 6,000
O=2X A== 3,000,000& 3,000
O A== 1,240,000 1,240
Ounstzsdz 250,000 *4CH 1,000
O&IIHIEHI 250,000 »23| 500
O3218EI(, 8271, 810l, HIINA sEgs
720,000& <12 8,640
OgdY 2 8HE 1 2Z+Y
220,000 x38 123 7,920
OSJEHBLIHY HDI|5|9 &&H
50,0003 x20F 23| 2,000
OFA Y M3 250,000 =128 3,000
O2I& HiXl 40,0003 #2104 840
OANd=7hEel L83
250,000& =128 3,000
Os==9 M 1,500,000& 1,500




2A:

= K|gols] 29 N
el Q2Eel Halst (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZHE M= o WAl 1,500,002 1,500
OAS U 918 HUIA 0182
200,000 123 2,400
O==0SIAA =2 150,000& 203! 3,000
Oxs+8z S 3,000,000& 3,000
Oolg| 2t HAd HME 2,000,000& 2,000
O=gJl & Zgid dxt=z
850,000& 123 10,200
OLUMARE B4 42
100,000& x5 *43| 2,000
O RAPE SYUARIBE MALE
100,000 x6H 23] 1,200
OXNZAINMBSRA MHE HE=H
200,000 x5 H *23] 2,000
OZ2F=2U&d 94!, 2= =
15,000,000 15,000
OXA A2 YAS 3,000,000& 3,000
Oger=2H| 10,000,000& 10,000
02 33244l 44,804 44,564 240
O3z £ HMAl 18,000
CIEEFUE MEZ
100,000 *2CH 122 2,400
-HIIR3 1,000,000& 123 12,000
=523 100,000« 12& 1,200
-HoHeIE sEI| RAES
150,000& * 12& 1,800
-SEYE 018z 50,0003 *12& 600
(OINE=F=1:1EIN]:] 10,000,000 10,000
OXt&sX2eldl 15,000,000& 15,000
Ogrsd g 2= 104,500 128 1,254
OLtE 8= 550,000 550
03 &At2gH| 6,000 12,000 A6,000
OAEHILIHE S2dse W=
3,000,000&*22] 6,000
202 o4t 64,000 54,000 10,000
01 =34 13,000 13,000 0
OQAFLEX Xig =8 F&
8,000,000& 8,000
O™ =34 5,000,000& 5,000
03 =2 LR0| 46,000 36,000 10,000
Oo& =32 2/0t| 4,000,000& *7H 28,000
O & =3#=22/0t| 8,000,000& 8,000
O=NUF2AH L+
2,000,000 *5H 10,000
04 =M 5,000 5,000 0




2A:

= K|gols] 29 N
s 2gl2gal WAalst EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odli 2 & &AL HlwASt
2,500,000& x2& 5,000
203 Q2 E Y| 9,000 9,000
03 Al EZIQL =ZIY| 9,000 9,000
ONHEFADEAY|(DR)
6,000,000& 6,000
OANBZRHSETY| (+H T2 )
3,000,000& 3,000
301 EtE NS 2,040 8,280 26,240
11 dAMEBIXIZE S 2,040 4,080 2,040
O2AH2LIHE 29
13,0002 <20 *42] 1,040
O2EZLIHS /35
50,000 20 %12 1,000
303 Zaf= 2,000 2,000
01 Z&3 2,000 2,000
OBIMRUA 242N Ea
2,000,000& 2,000
305 =S 400 400
01 =S 400 400
Ose S &uigd 40,0002 10 400
SIPSEgtel 220,551 235,992 15,441
201 et 3| 90,551 86,992 3,559
01 At22t2l] 90,551 86,992 3,559
O AAX M= 12,000,000 12,000
ONS E284 M= 10,000,000 10,000
o2y 2= M& 4,000,000& 4,000
OANLSSANAE & BEHH R+
1,650,000« 128 19,800
02l SHIOIX KX
995,900 122 11,951
OAt&IRle HIS 2,000,000& 2,000
02l lguds & 2= MH
22,000,000 22,000
ogz+e 200,000 *43] 800
Oz 228 M& 8,000,000 8,000
308 XXM SOIH 130,000 130,000
18 SIS0t oA AS At 130,000 130,000
(ORIFSE3-y=3 110,000,000& 110,000
Oo2due s 20,000,000 20,000
o3 Iz 29 2,000 2,000 0
405 AtatE = 2,000 2,000
02 =A=EhI 2,000 2,000
Oltgz =47 2,000,000& 2,000




FA 2SIAIR
M Y RAZHI(ASIAR1L)
SRl J123HI(2S AR D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HY2IZHI(2I3IAIR ) 79,180 98,340 19,160
[=2ZHI(2I&AHR D 29,180 30,340 1,160
J123HI(2I3AFRDH) 29,180 30,340 A1,160
201 fer= 3| 13,000 13,000 0
01 At 2t 13,000 13,000 0
FASS ARl 13,000,000& 13,000
202 04| 7,000 7,000
01 =LHO LI 7,000 7,000
OIl=L2430iHl (212)
7,000,000& 7,000
203 HR=H] 9,180 10,340 AT1,160
01 D[22 LR FA| 3,300 3,300 0
OJ|2=dg=a] 3,300,000& 3,300
02 32 JRHH 2= 1,680 2,240 560
OFEAINIE R 80,0002 21 1,680
M FA2HARFAI 4,200 4,800 2600
ORNSZLR2FTIHI(2521010H)
350,000& 122 4,200
I 2| (23R 50,000 68,000 A18,000
A (2B AR D 50,000 68,000 18,000
101 @124H| 50,000 68,000 18,000
01 &2 50,000 68,000 18,000
O8lta0i= 50,000,000 50,000




